Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering Semester —I/II Examination Jan. 2012

Subject code: 320026 Date: 23/01/2012
Subject Name: Surveying

Time: 10.30 am — 01.00 pm Total Marks: 70
Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered Authentic.

Q.1 (a) Define Surveying. Explain basic principles of surveying in detail with sketch.
(b)  Explain various types of scale. Describe characteristics of Ideal scale.

(¢) A plan represents an area of 15206 Sq m and measures by 10.0 x 5.94 cm. Find
out R. F. of the scale.

Q.2 (a) Draw neat sketch of key plan. Show and explained Base line, Tie line and
Check line on your key plan.

(b)  State various types of chain used in survey work. Draw a neat Sketch of 20 m
length chain showing its components
OR
(b)  Give the list of instrument required for chain survey with their uses.

Q.3 (a) Draw neat sketch of Prismatic Compass. Write working of its parts.
(b) Draw symbol of B.M., Culvert, Cutting, Pipe line, Hedge

(c) The length of line measured with a 20 m chain was found to be 1500 m.
Calculate the true length of the line if the chain was found to be 250 mm long at
the begging of work and 150 mm short at the end of work.

OR
Q3 (a) State the types of obstacles in “Chaining” Explain any one method of
overcoming the obstacles.

(b)  Define: Bearing, Meridian, Local attraction, Isogonics lines and Agonic lines.

(c) Draw Contour for Hill, Over hanging cliff, Valley and Pond

Q4 (a) List various accessories required for plane table survey with their uses.
(b)  Define Leveling, B.S., F.S., LS., T.P.,, BM., R.L.
OR

Q.4 (a) State advantages and disadvantages of plane table surveying.

(b) Define contour. State uses of contour.
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The following consecutive readings were taken on continuously sloping ground
at common interval of 20 m The First reading was taken on B.M. of reduce
level 520.45 is 0.585, 0.936, 1.953, 2.846, 3.65, 3.95, 0.95, 1.035 1.689, 2.534,
3.844,0.93, 1.579, 3.02.

Prepare a page of level book
Calculate R.L. of all the points by Rise and Fall
Apply usual arithmetical checks.

The observed bearing of line of closed traversed ABCDE is as under. Calculate
all interior angle.

Line F.B. B.B.

AB 96" 15° 276" 15°

BC 11°0° 191°0°

CD 270" 30’ 9030’

DE 188" 15° 815’

EA 12345 303 %45°
OR

The following consecutive readings were taken on continuously sloping ground
at common interval of 20 m .The First reading was taken on B.M. of reduce
level 150. M. The readings are 3.56, 2.38, 1.86, 0.75, 3.16, 2.99, 2.20, 1.36,
3.00, 2.51 and 1.10.

Prepare a page of level book
Calculate R.L. of all the points by H.I. method.
Apply usual arithmetical checks.

The following bearing was observed of closed traversed ABCDE is as under.
Calculate all interior angle with usual checks.

Line F.B. B.B.

AB 81V 10° 260°0°
BC 121°20° 302°50°
CD 171°50° 351950°
DE 231 10° 50" 30’
EA 311°20° 131 °%15°
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3.US, R.3¢, 1.¢S, 0.9Y, 3.45, R.¢¢, .0, 1.3, 3.00, 2.Uq Aal

1.10.

Line F.B. B.B.

AB e¢s’aw R9s’ W’

BC 1’0’ 1e’0o’

CD 290"30’ ¢0°30’

DE YAARN'E ¢

EA 3% ¥w’ 303 "W’
AUl
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Line F.B. B.B.

AB ¢1°0’ R50°00’
BC 12420’ 30240’
CD 194°v0’ 34a’yo’
DE 3110 uo’30’
EA 394°20° 131 ‘W’
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